MENTAL ABILITY TEST / wengSmen Csitey
auflpem ellenm eram 1 e 10 cuen|

Direction : (Questions 1 to 10)

In each of the following questions,
the numbers/letters are arranged based on
some pattern or principle. Choose the correct
answer for the term marked by the symbol
() :

1. 0,3,9, 18, 30, ?
(1) 48 @ 42
(3) 36 “4) 45

i 6, 9, 18, 21, 30, ?

[CoDE x [ 1 [14]

ED&aETamD elenTasald eramsat |
TWPEHEHT @ GO L A ufemiig
aflenslu@sstiulHererer. Gaemeisea:
(?) @ruul @érer @QLsHnE shuren
slenLemw CaibhsHéseyn.

1. 0,3,918, 30,7
(1) 48 2) 42
(3 36 @ 45

2. 6,918, 21, 30,7

1) 38 £2) 33 (1) 38 2) 33
(3) 36 4) 39 (3) 36 4) 39
4 16 3 27 8 18 4 16 3 27 8 18
(1) 16 @) 10 1) 16 ) 10
3) 9 4) 12 @ 9 @) 12
4 3 SR IERERER
g8 | 10| 8 ERERER
= 27 | 2 IELEA 2\
1) 18 ) 40
18 (2) 40
.((:3 - 4) 24 3) 21 (@) 24
3
5. 4 3
5 3
5 4 3 <
& a9 69 7
69 5 6 C
5 o
5 3 ’ 3 (2) 138
2) 138 (1 86
(1) 86 @) 3) 76 (4) 120
(3) 76 w120
D

Scanned by CamScanner



[CODE] X [ 1 [14]
/6y

1) 22

(3) 69

7. 2 10 5

26 37

(»ij\ss

(4)

17 26

153

50

Y'Y Y

7.

45 8.

(1) 82 (2) 81
3y 48 @) 26
8- 125 51 56
|2 18 39 ?
(1) 195 2) 139
(3) 121 (4) 84
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2% (2) 88
(3) 69 @) 153
2\(10 5 17 26 50

26 \37( \{
(1) 82 ) 81
(3) 48 4) 26
125 51 v Q

71 111

21 18] |39 ?
(1) 195 (2) 139
(3) 121 (4) B84
0@ 6@ 6
X8y TXey (X
(1) 160 (2) 116
(3) 150 (4) 128



10.

How manv trj
any triangles are there i i
figure 2 g in the given

[CODE[ X [T [14]

QeETH&&E LT (drer alenFuL_G&le
TEHSMST (LPECHTET RIS 2 GTaTenm ?

1) 8-

<2y 10
G) 12 W B
(4) 11 @) 12

10.

2) 10

(4) 11
Direction : (Questions 11 and 12)

Merm erewr 11 @ 12 Guem
11.  The number of squares in the given figure ( e !

i« 11. Qasr@hssuulBHerer eumrUL G
—_— o GTeT  FHTRSHTEN 6T e &Hens

Il |
|
1) 9~
3y 14

-4

(2) 10 - 1) 9 (2) 10
4) 12 (3) 14 (4) 12

/12, 2*5=83325 ; 4*6 = 6410036, 37 =277649 19,
/" then 5*9=
(1) 12520681

L (3) 25704729

2%5 = 83325 ; 4*6 = 6410036, 3*7 = 277649
| eraaimmey 5*9 = :

{2) 1254481 (1) 12520681 (2) 1254481

(4) 125604729 .. (3) 25704729 (4) 125604729

13. Insert the missing number : 13. &Q@Hul L eramenemt Gar&sad -

15
55 laa 6 2 o5l ®
0289 2 1 10 289 7 44
7 | 12
(

(p 625 2) 125
(3) 225 4) 25

3

(1) 625 2 125
(3) 225 4 25
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14. Which one of the following pairs is
different from other three pairs ?

(1) BFN: YUQM
(2) EIMQ: VRN]J
—3) GLQV : TOJE

(4) KOSW : PLHD

15. Choose from the given options, the correct

letter-number pair to replace the ? and to
continue the series.

NAVA
(1) S/10

£7 3/X

(2)
(4)

Directions : (Question numbers 16 to 20)

According to the relevance of three
elements in each question, choose the sets of
elements which exactly fit in one of the
diagrams marked as (A), (B), (C), (D) and (E).

@Q@ooo

@ ® © O @
16. Crow : Pigeon : Bird
1) (B 2 (©
3) (A A (®

Scanned by CamScanner

4. 8Gy Qer@ssuul@erer Gargsafle
TIh& & Gamig MM eLp 60T M)
@fﬂqaaﬂeﬂ@gﬁ@ wrpu®BEng
CTOLIGHGE & matoTd:

(1)  BFN: YUQM
(2)  EIMQ: vRNj
(3)  GLQV :TOJE
(4)  KOSW : PLHD

15 &Gy ®5”®$$DuL®mm efen_saflev

Qé0pa Gsaels @HW@ L (7)

@Léé@@@ Qurmsgorer (sflwrer)

TWegI-eretr Camgamw Gairey Qsuig)

Qeueuflapsany Qgrirs.

(1) s/10 2) U/4
3) 3/X 4) 6/U

auflpen: (eQerr eream 16 Wpse 20
aueny)

&Gy Qsr@ssiul [Herer e sat e
o Lsamaaigiarer Qgrimleanar GQurm
581, (A), (B), (C), (D) wpmd (E) eremgml

uLmsafle  GQurmssworear  ULG®
Cgiey Qs
(O pooe
(A) (B) © O
16. Crow : Pigeon : Bird
1 (®) 2 ©
(3) (&) @) (E)



e

|[CODE[ x [ 1 [14]

17. India : Earth : Jupiter

17. India : Earth : Jupiter

(1) (D) M2Y (A) 1) (D) 2 (A)
©) @ 4) (B) 3) (E) (4) (B)
18.  Music : Rhythm : Dance 18. Music : Rhythm : Dance
RANC) @) (A) 1 ©) @ A
® ® 4 (E) @ ® @ ®
19. Cells : Tissues : Organs 19. Cells : Tissues : Organs
(1) (B) (2) @A) 1) (®) @ @)
3) (E) “ (D) (3) (B 4 O
20. Television : Computer : Typewriter 20. Television : Computer : Typewriter
& (© 2) (D) 1 (© @ O
3) (A) @ (B 3) @) @ ®

51. The number opposite to ‘3" in the given 21. UL SS@ieren LseoL U9 Y- &@E erHGT

PP PE

S.canned by CamScanner
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22, If P stands for * +’ 22,
Q stands for " -’
R stands for “ X’
S stands for ‘=, then
2P4Q6R8S1R3Q5P7 is :
(1) 0 (2) -136
<3 —150 4 2
23. Find the odd man out in the series. 23.

64, 71, 80, 91, 104, 119, 135, 155
1) 71 (2) 80

3) 119 4y 135

24. Find the odd figure in the given sequence. 24.

NSZIZ

(A) (B) © (D)
1) (A) (2) (B)

3 (© # (D)

Scanned by CamScanner

P eremuigl +’ ereed
Q ereoiigl —’ TG LD
R erammug) ‘X ereneLd
S eremugl ‘=, eTena|Ld @(BHSTD

2P4Q6R8S1R3Q5P7 erailigl -

(1) 0 (2) —136
(3) —150 4 2
QarhssiiulHerer Qg

GeupuLl L g IEnL_LITETLD &TEuTs.
64, 71, 80, 91, 104, 119, 135, 155
(1 71 (2) 80

(3) 119 (4) 135

Qer@ssiiul_Herer Qgrifleo GCoumi-

UL NG <HHEDL_UITETLD &IT 60T &.

N Z

(A) ©) (D)
1) &) (2) (B)
3 (©) 4) (D)



25. Complete the series.

0.5, 0.55, 0.65, 0.8, ?

(1) 0.85 2) 0.9
3) 0.95 1y 1.0

26. A man starts from his house and goes

5 km towards north and turns right and
goes 5 km. Again he goes 5 km to his left
and turns left and goes 15 km further.
Now, in which direction is he from his
house ?

(Q/ f North-West
(4) North-East

North
East

(1)
3)

27. If A*E=C ;
J*(L*P) =?
(1) K

Q),L

H*L=] ; P*T=R then,

2) 1
(4) N

Choose from the given options, the correct
Letter-Number pair to replace the (?) and

28.

to continue the series .

e YN |

(4)

<§“
Wi
N N, N
N
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25.

[CODE] X [ 1 [14]

ECY Qar@sstuul_(erer Qg faper
sl Qauis.
0.5, 0.55, 0.65, 0.8, ?

(1)
(3)

0.85
0.95

0.9
1.0

(2)
(4)

GMmeu e il gd(Hbg LS
Cpred 5 §.8. gnyp Ceeam eues)

27

28.

o Hmod 5 .8, gnrn Geaspr.
Bamr@b @Lgsuyobd 5 &.8. Geeamm
LHUGLD @Lgumwd 15 &.8. gnpo
Qsampre SHCUTH DUl He eIl ia-

O\ (mHS) Grg,gcoa:uﬁ\éo @muuri ?

1) &G 2) auLCwpaE
B) Hws® (4) L HWES
A*E=C ; H*L=] ; P*T=R e,
J*(L*P) =2
1) X @) 1
3) L @) N
ECp Qar@sstiu(herer eQ\enL_&a
OmhHg Csaels @Dl
QL&SHDHE QuTBHESSOTEN (smMwm
a5z -eram Gemgenw Ggiray Q&
@Qeucuflensenw QBHTLTS.
B K
11 ?
1 3 @ 7
@) 2 4 6



o &

E@ﬂmﬂllﬂﬂﬂ!
29, 1f POUND is coded as MILRKA, how will
ENGLISH be coded ?
(1) AKDJEPE™ " () BJDIFOE
_A3) BKDIFPE (4) BKDIDOE"
30. SHINE, VEMJJ, XBQFO, ?
L
(1) ZXTAS (2) AYUBT
(3) BZVCU (4) WTUAV
31. The mirror image of the word WEATHER.

(1) MEVLHHAI
(2 gJdHLAIN -
(3) MIATHHAR™

M) ATHTAIN

32. Paper : Pen :: Blackboard :
(1) Teacher (2) Student
(3) Notebook ) Chalk

Scanned by CamScanner

10

29.

30.

31.

32.

POUND  eres® Qer@me® MLRKA

GT &M @@ﬁ@&@ﬁn@ @@r{bgﬂréo,
ENGLISH ~ erémd Qemep erelalmd
@g‘)]ésa;uu@d) ?

(1) AKDJEPF (2) BJDIFOE

(3) BKDIFPE (4) BKDIDOE
SHINE, VEMJJ, XBQFO, 7

(1) ZXTAS (2) AYUBT

(@) BZVCU 4) WTUAV
WEATHER GT &8I Qgm0 &d\ &

SeTenTrig UAed eu(HD Gibud.

(1) MEVILIHIA

(2) SHHLAIIN

(3) MEATHHAR

(4) gdHTAZIW

Paper : Pen : : Blackboard :

Teacher (2) Student

(1)

(3) Notebook (4) Chalk




Direction : (Questions 33 to 39) audpenm:(eflenm eram 33 (o 39 quent)
In the following diagram Rectangle G QarGasuulHerer LG
re?resents women, Circle represents urban, Qsdieusd QuaTsmaTUid, UL LD
Triangle represents Post Graduates and B&TLDGHOSULD, WP&ECHETETD (PEHSH®D
Square represents librarians. UL LgTR&a®eTu|d, ESITD BIGOE T &HEDET LD

33.

34.

35.

36.

[CoDEl X [ 1 [14)

wepGw Ghadlemer.

10
14 8 15

11 13 16

33. &Cup QaTH&ESIULL GUT&HEHET eTeu

Who among the following is a Post

Graduate who is not an urban resident ? BH&T QUTHWETS (LPEISHEN \_\\'__\_g,m‘ﬂ'?

1) 6 @) 7 1) 6 @) 7

3) 11 (4) 20 (3) 11 4) 20

Who among the following is a Woman  34. &G Qar@&s UL eUTSHEHET 6T auT
Librarian, who is neither post graduate BETSMSE ETIHHITS, (PHEH®D
nor belongs to urban area ? L grhl @ders Guie BAOST 2

1 9 2y 15 1) 9 2) 15

3) 6 4) 10 3) 6 @) 10

Who among the following is a woman, 35. &C1p QsTH&EHIUL L aUTSHEHET 6T euT
urban and also a librarian but not a post BET GUTLD QUG BIOST, T S\euT
graduate ? pEIE@®e UL STl Gama ?

1) 15 (2) 14 (1) 15 (2) 14
43y 8 (4) 12 3) 8 (4) 12

Who among the following is neither a  36. §Cp QaTHEHILLLaTSEHET e

EOHMHD DD, PHS®D i

STHLID e QYETD, BETSH
i Ceipaoul, G el Quiat <

4 @ 5 1) 4 ) 5

8 4) 12 (3) 8 @) 12

librarian nor a post graduate but is urban

and not a woman ?

(1)
(3)

11
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37. Who among the following is only a

librarian but not a woman nor urban
resident and not a post graduate ?

A1) 9 @) 10
@) 11 (4) 16

38. Who among the following is a man, urban
resident and also a librarian ?

(1) 8 2) 9
A8 12 @) 15

39. Who among the following is a post

graduate woman who comes from urban
area ?

@ 6 2) 14

(3) 13 @) 7

40. 35& means “Students like maths” ; 297
means “We are students” and 748 means
“They are parents”. The digit for “We”
is :

(1) - 4 2 8

usy 9 4 5

/31, 1f‘BROTHER' is 86 ; 'FATHER is 58 and
.~ ‘SISTER’ is 90 then ‘MOTHER’ is

(1) 83
3) 79

@ 73
4) 52

42. If fifth day of a month is four days earlier
than Wednesday, what day will it be on
Twenty eighth day of the month ?

(2)/ Monday
(4)

(1) Sunday

(3) Tuesday Wednesday

12

Scanned by CamScanner

37.

38.

39.

40.

41.

42,

ECip Qar(H&EsIULLeTEEHeT 6 eul
QUET HHDOTS, BETSDSE (Bgr'r‘n'bﬁ-mrg,
WaIsme UL STHLOOTS HIGV&T?
1) 9 2) 10

@) 11 @) 16

£Cp Qasr@ssiul L& @ erail
BET GUITLD 24,68 BICSET?

(1) 8 2) 9

(3 12 (4) 15

ECu Qar(H&aL UL L euTsE@hHeT eTe;ur'r
&[T GUITLD (PgISEOL u\'_L_g,mﬂ QLT ?

1) 6 2) 14

@) 13 @) 7

351 ereilig) “Students like maths”; 1€
ereog “We are students” LOHDID 7
creniigyl “They are parents” @T afeo “W
CT@TLISMSTET 6T 68T G{CRE

1) 4 2 8

3) 9 @) S

‘BROTHER’ eranug 86; ‘FATH
erenLgy 58 LHMID ‘SISTER’ GTEsTLg
eradflev ‘MOTHER’ eremiug) ——————
(1) 83 (2)

3) 79 (4) 52

(M wrasslen PHsTOUS B
SpmwsE BIaENE BTL&SET (P
BreT erafled LIGESEEn 28 -eue
GTHS HIETS MWD ?
1) @iy )
3) Gaeueumu (4)

AL

L5



43. The . . |CODE[ X T 1 -m
o ﬁ;‘ue:t f?gure N the following sequence 43.  9enoumouenens W
es is : : : POI&EE Sbhsssrs
: QUMW UL sHemens sreiva, - >
A A Y
A A A A
a g " A &
% ol + Dk + ol o+ + \ b
A O
A A O Y k:
(1) Fo) 0
N A2) (1) @) u
+ + +

A O A A O
+

44. The next figure in the following sequence 44.

. : Haapauaaudiipg Gss5Ts
of figures is : ’

UL UL SHevens &ems.
O old @~ A ) oN® @l\° A
. ? ?
A olal Ao o A Q\\@ A& EX\ \
‘ @ ﬁ ﬁ
2 1) 2)
@ ﬁ »
() (4
6 Yl ;@:<

13

B>
=
&

B

[ A
)
o ® [

& B
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45. The next figure in the following sequence 45. Y emau(He areuHHlHE 2ABSSETS

of figures is :

X =] % .
= x + I ?
+ b J = x
£ + X =

bus = % x-*
SO =" @ | » (1) (2)
@ | + @ | + @ | + @ |+
s b 3 13
46. (O Allo Olla Olle A 46. [o Allo ol[a Olfe A
A Y T O A
- e = e - e
ORI B - o |8 @, 3
A :
47. > 47. > >
N
(1) f (2) ’ (1) ’ (2) \
T
) (4) 3 (4)
by
14
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48.

50.

49.

Find out the word that cannot be
formed by using the letters in the word
“ERYTHROBLAST” :

(1) BLAST () BLAME

(3) THEORY (4) ROAST

From the four alternatives only one differs
from the remaining three. Identify it.

Aries Virus

(1) (2)

(3y" Agquarius (4) Pisces

Choose the correct answer for the term 50.

marked by the symbol (?) .

P3, 2, ]9, G12, D15

(1) Ké

4) L8

(3) M8 ¢

Scanned by CamScanner

lcoDE| X 1 1

114}
Eparanib “ERYTHROBLAST” erendlp
QUTTEMHUNQIETET 6T (PSHHSHmaE &
Qaran(H 2 (HeuTHs WPuwrg Csre
ergl ?

48.

(1) BLAST (2) BLAME

(3) THEORY (4) ROAST

Spsranid QzrEGuld® o amerauHmiey
eQgHwirsions o GraTg) eTHl ?

49.

(1) Aries (2) Virus
(3) Aquarius (4) Pisces
s GO @ L &8
aurCeuairig ) (&g -cTei Garaney
eTg)?
P3, 2,19, G12, D15
(1) Ké (2) Mé
(3) M8 (4) 18

15
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LANGUAGE COMPREHENSIVE TEST (ENGLISH) / Qumfis Gzie (

they are about the size of a grain o
aid the eggs begin to r

Directions : (Question numbers 51 to 55)

Read the following passage and answer the

questions given below :

Fleas are perfectly designed by nature to
feast on anything containing blood. The bodies
of these tiny parasites are extremely hardy and 51.
well-suited for their job. A flea has a very hard
exoskeleton, which means the body is covered
by a tough, tile-like plate called a sclerite.
Because of these plates, fleas are almost
impossible to squish. The exoskeletons of fleas
are also waterproof and shock resistant, and
therefore fleas are highly resistant to the sprays

and chemicals used to kill them.

Q)
(2)

(4)

Fleas are some of the best jumpers in the
natural world. A flea can jump seven inches,

after being 1
cocoons. In the cocoon stat

developed adults, an
conditions are favourable.

The primary purpose of the passag

é‘b[ﬁ]é\mlb)
f salt. Shortly
ansform into

e, fleas are fully

d will hatch immediately if

eis to:

educate the reader about the

physical characteristics of fleas.

compare fleas to other members of

the animal kingdom.
relate the problems that can result

from a flea infestation.

explain that a flea exists everywhere

and hard to get rid of.

or 150 times its own length, either vertically or 52. According to the passage, fleas are
horizontally. Fleas can jump 30,000 times in a resistant to sprays and chemicals because
row without stopping and they are able to th?y:
accelerate through the air at an incredibly high A1) have waterproof sclerites
rate, a rate which is over ten times what humans (2) are excellent jumpers
can withstand in an airplane. Fleas have very (3) reproduce very rapidly
long rear legs with huge thigh muscles and (4) can stick to fur like Velcro
multiple joints. When they get ready to jump,
they fold their long legs up and crouch like a
j 53. According to the passage, fleas are able to

runner on a starting block. Several of their joints
contain a protein called resilin, which helps
catapult fleas into the air as they jump, similar
to the way a rubber band provides momentum
to a slingshot. Outward facing claws on the
bottomn of their legs grip anything they touch
when they land. The adult female flea mates
after her first blood meal and begins producing
eggs in just 1 to 2 days. One flea can lay up to
50 eggs in one day and over 2000 in her lifetime.
Flea eggs can be seen with the naked eye, but

16
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M
)
3)
#

jump :
(a)
(b)
(©)

with a high rate of acceleration.
up and down and from side to side.

because the blood they eat contains

resilin.

(a) only

(a) and (b) only
(b) and (c) only
(a), (b) and (c)



54. Based on information in the passage, the

reader can understand that :

(1) fleas will die without access to blood.

2) fleas survive at a higher rate in
outdoor habitats

(3) fleas will die after they produce 2000
eggs.

(4) newly hatched fleas are the size of a
grain of salt.

55.

It can be inferred that fleas will emerge
from eggs as adults :

)

when they outgrow the cocoon.

(2) after a period of three weeks.

(3) when they sense there is access to
blood.

(4) if there is too much carbondioxide

in the cocoon.

Directions : (Question numbers 56 to 60)
Read the following passage and answer the

questions given below :

The greatest enemy of mankind, as people
have discovered is not science, but war. Science

merely reflects the social forces by which it is
surrounded. Itis found that when there is peace,
science is constructive, when there is war,
science is perverted to destructive ends. The
weapons which science gives us do not
necessari]y create war, these make war
increasingly more terrible. Until now it has
brought us to the doorstep of doom. Our main
problem, therefore, is not to curb science, but to
stop war to substitute law for force and

international government for anarchy in the

Scanned by CamScanner
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relations of one nation with another. That is a
job in which everybody must participate,
including the scientists. But the bomb of
Hiroshima suddenly woke us up to the fact that
we have very little time. The hour is late and
our work has scarcely begun. Now we are face

to face with this urgent question, “Can

education and tolerance, understanding and
creative intelligence run fast enough to keep us
abreast with our own mounting capacity to
destroy” ? That is the question which we shall
have to answer one way or the other in this
generation. Science must help us in the answer,
but the main decision lies within ourselves.

56. According to the author, the real enemy

of mankind is not science but war, because:

(1)  science during wars is so destructive.

(2) science merely invents the weapons
with which war is fought.

(3) the weapons that science invents
necessarily lead to war.

(4) the weapons invented by science do

not cause war, though these make it
more destructive.

57. War can be stopped if :
(1) weapons invented by science are not
used to launch a war.
(2) science is restricted to be utilized
only during war time.
(3) science is not allowed to lead us to
utter destruction.
“{4)  we replace force and lawlessness by
law and international government.
17
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58.

Which of the following is opposite in
meaning to the word ‘anarchy’ as used in
the passage ?

({) law and order

(2) economic prosperity
(3) political dominance
(4) communal harmony

59. The phrase ‘our work has scarcely begun’

implies that our work :

(1) has not yet begun

(2)

has begun but not yet completed
\(,20/ has only just begun

(4)

has been half way through

60. According to the writer, the main objective

is to:

(1)

prevent scientists from participating

in destructive activities.

abolish war

@
(3)

stop scientific activities everywhere

(4)

stop science from reflecting social

forces

18
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Directions : (Question numbers 61 to 65)
Fill in the blanks with the most appropriate 1
option given below :
Some theorists believe that the conditions
of urban life harm the people who live in cities.
61 ___inthe 1930s that the huge

number of people, population density and great

Louis Wirth
social diversity of cities led to _62__ impersonal
relations, and stress. Many since then have
agreed with him. People live 63 close to
one another but are socially distant. They make
few friendships outside their own racial, social
or economic group. And they are constantly
attacked on all sides by a variety of sights,
sounds, and smells. They are ___64 bumped
by others on the street. They hear their
neighbours’ radios through thin apartment

walls, and sirens __ 65 at all hours of the day
and night.
61. (1) said (2) opined
(3) argued (4) elaborated
62. (1) alienation (2) orientation
(3) integration @) confusion
63. (1) ethically (2) Thappily
3&35 physically (4) willingly
64. (1) accidentally (2) occasionall
(3) intermittently (4) frequently
65. (1) banging (2) wailing
3) mourning (4) Tharping



Directions : (Question numbers 66 and 67)
The following five sentences come from
a paragraph. The first and the last sentences
are given. Choose the order in which the three
sentences (PQR) should appear to complete

the paragraph. 68. My father as a teacher.
66. S1. The Indian woman wants
S2. (1) working 12) is working
S3.
S4. (3) works (4) is worked
S5. And it is not too much to be
demanded
P.  ina male dominated society 69. Leela Raju for years about his
Q.  her rightful place smoking habits, but he just won’t listen.
R.  as an equal partner
(1) warn
Choose from the options given below :
(1) . QPR (2) PRQwy (2) warned
3) RQP™ ) QRP
(3) have been warning
67. S1. We had in our vill
ur vitage W4) has been warning
S2.
S3.
S4.
S5. near the river and throw stones into Had you told me the short cuts earlier,
h - the contest.
e water
ho from
P.  Whom I well remember who {ro (1) will have won
Morning till night would sit on a
stone (2} would have won
R. ~ Some thirty years ago a stupid boy
Choose from the options given below : (3) would be won
1) QPR (2) QRP o
(1) (4) will be winning
A5 RPQ (4) PRQ
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Directions : (Question numbers 68 to 70)

Select the most appropriate option to fill
in the blanks from the given alternatives.
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; s.
Directions : (Question numbers 71 to 75) 74. A snake in the gras

oisonous snake
Select the meaning of the given phrases/ (1) averyp

idioms. (2) a secret agent
71. To bury the hatchet. @&f an unrecognisable enemy
ﬂ') To dispute over small things (4) not trustworthy

(2) To destroy

75. To be above board.
(3) To make up a quarrel

(1) To have a good height
. (4) To repair a costly furniture

w?Z)  To be honest in any deal

(3) To have no debts

% e grey aen (St (4) To be secretive in any deal

({) To change one’s behavior for the
better

Directions : (Question numbers 76 to 80)

(2) To read something attentively
Choose the word which best suits to fill in the

(3) To remain vigilant blank from the four options given below.
(4) To become cautious from now 4t x;?ihwsfebgaoilz’nm by the news
() electrified (2) petrified
73. Once in a blue moon. (3) deranged (4) shaken
(1) frequently
(2) ona New Moon day 77. The car driver was arrested for ra

driving and his license was

(3) only once

N7 rarely

(1) impounded {2)  confiscat
(3) suspended (4) penalize
20
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82. They decided to do away with the old

The chairman will come here at 5 p.m. to

78.
a lecture. system.
(1) offer (2) speak /
K1) remove (2) repair
(3) talk \(4) deliver
(3) prepare (4) reject

79. Cellular phone service has a

new phase of communication.
83. Rosy put on her make-up very carefully.

(1) called (2) ushered
(3) paved ‘(4 started (1) reduced (,5_) applied
(3) wiped out (4) cleaned
80. AIDS is not a disease that can be
through the air or by insects.
(1) circulated
84. The burglars got away through the
(2) transferred window.
\_62’)/ transmitted
(1) entered (2} escaped
(4) disseminated
(3) broke (4) jumped

Directions : (Question numbers 81 to 85)

Choose the correct word to substitute the
85. I am not able to make out anything from

phrasal verb underlined.
your speech.

81. She could not putup with all his nonsense.
}’i) understand

(1) conclude
wear

w3} tolerate (2)

(4) allow (3) create (4) prepare

(3) accept

21
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Directi . . )

ctions : (Question numbers g¢ to 90) R AR T T —— i Anme.
(2) Ruth didn’t turn up, Anne did nor.

Which one of the following sentences is
correct ? S 15 |
(3) Ruth didn’t turn up, did nor Anne

(4)

86. 1) He is more lazy than stupid Ruth didn’t turn up, Anne nor did

(2) I 1 more la 71 tha gh.lpld 0
‘Ie S zier th n -0VO0-
(3) He is ]azier than stupld

(4) He is laziest than stupid

87. (1) Let the window be opening
(# Let the window be opened
(3) Let the window open

(4) Let the window opened

88. (1) She can speak Japanese, will she ?

(2)  She can speak Japanese, won’t she ?

.,(5{ She can speak Japanese, can she ?

(4) She can speak Japanese, can’t she ?

89. (1) I can be able to repair this machine

V&f I can repair this machine

(3) 1am able to repairing this machine

(4) I can able to repair this machine

22
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PARTI: MENTAL ABILITY AND
LANGUAGE COMPREHENSIVE TEST
(For Students of Class X)

Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open
the question booklet.

1. Answers are to be given on OMR answer sheet.

2. There are 90 questions in this test. All are compulsory.

3. This test consists of two sections
Section I - Mental Ability test for 50 marks

Section II - Language Comprehensive test (English) for
40 marks.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle with
blue/black ball point pen in the OMR answer sheet.

5. Since the time allotted for this question paper is very
limited you should make the best use of it by not
spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

7. Rough work can be done anywhere in the question
booklet but not on the OMR sheet/loose paper.

8. Every correct answer will be awarded one mark.

9, Please return the OMR Answer sheet only to the
invigilator after the test. You can retain the question
Booklets.

10. English version of the question paper will be considered
as final in case of any dispute arising out of variation in
translated version.

11. Quote your seven digit Roll number without fail for
any future correspondence.

PLEASE TURN OVER THEPAGE AND START
ANSWERING

Scanned by CamScanner

u@@ 1 SiPlayei pmtd affleurest Qo Cgpitay
(&brﬁJa‘;lG\JLb)
(UGSTLD uGUY LOTGEBTOUIT & (GTHESTCIISH! )
@myLb : 90 BILAIL_LD QLo LB IGLIGTBTEGIT : 90

€23 Y] STUPBHIICUTGTHHHTETT aNB (LD BT
aflerm HAGL GareLimud HOLILBDE (LPesT Qar@® el HETeT
QA LPEPDHEEHET HAICTILOTE Tl &Ha|Lb.

1. Q9L &6T Sesfluimet OMR afemLggroflcd

@ﬁn@MDULG‘?WW‘W@Lﬂ

B5@sadlcd 90 aflerdaeT o GGG, BIEHETISSILD HL_LMUILD
aflenL_wandaiu_BGaisor@Gib.

w

®68s i @ras® LMoy e6Ts: CaHTEITL S

ey 1-50 LB IQLIGTTSHEHEHSHTCT SylayeTi 5&FBsT0
Ay FE-40 g@ﬁ&@uaf‘ﬂm@eﬁ&ﬂ(m aSifleurest QomPHHEHiay
(guiidleud)

Su@arm ofarreilH@GL Gar@saliul_Gdrer wrHonl
aemL_aaflel(mbg &fluimrest oL ulemend aaTL_Mbg!,
Sz OMR ol ggreflsd o _fuws cul L SH Bev/ &my
uneoumds. Gueamraiicmey St CeuaTGLo.

o

B ANTTTHSTEHHE GHISHILL_BGTET ST JETRY k- )
GEDAUTEISTE S(HLILISTED sb® G MTTaiiHEGLD Fa(HBH0
Grrgemng GaaaplhaTiosd Grrémg e SDbs pempuiled
LLIGSTLI(DGSAYLD-

TBIeuG (B AeTTaIDE o_MISETHEE@ oo Qpwnieenc0
TR HHBCBW &7 ofenywtd Qeiumod® HOSS
aearrelh @ Geea . BprlEHBHTL P AN B\&
Qs aerdamen (puibdl QaunuIa|Lb.

AL semen G pBlu GHASTETEHD aufl(PIDEE®T
afler BHILOBTGLILI® THIG Boucsr@orareid @auig
@&METaTOLD. OMR-afenL_g@TerfBsor DI sestib@roriGeor
Qo nssnL_Tg).

8. guarm eflwre MmL&@h @ WwHOICUET
mgprrhemllu@l_b.

9. Bsiey apyhHd DG OMR oL ggreer LG

SimpeamTarasfiuiureri b Qar®aaa|b. aNaThie
Q@ LimL BRISHT TRSHIE Qawe0e0MLD.

10. QLWL ugduis gBpamin Cumgur®e
B radlaued aflesTrgSTarfles oy RIlooLs LGS Bnugune
&(HSLILIGILD.

11. g8payid Hlypd OHTL Y Q& raTenGauatTigul @Lpbi
LG 6 2_Rieagl 1 Bvde LIHEUGTITERCEST B!
@D ayb.
usss®SH Hmnd ugeatss FHIUIRIGAL
1



